Lesson 23 Homework m

‘ A STORY OF UNITS

Name Date
1. Divide. Then, check using multiplication.
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‘ A STORY OF UNITS Lesson 23 Homework m

2. A political gathering in South America was attended by 7,910 people. Each of South America’s
14 countries was equally represented. How many representatives attended from each country?

There were 565" representative s fom
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each country.
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3. A candy company packages caramel into containers that hold 32 fluid ounces. In the last batch,
1,848 fluid ounces of caramel were made. How many containers were needed for this batch?

s - K2 The candy company wil| need 58 containers,

525 |8Y4R 57 will be full. The 58thcontainer will only

—Ls_%? have 2Y fluid ounces.

— 224
2 Y

Lesson 23: Divide three- and four-digit dividends by two-digit divisors resulting in
EUR!KA two- and three-digit quotients, reasoning about the decomposition of 319
H'- successive remainders in each place value.
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